READ AND SAVE THESE INSTRUCTIONS

EVERDURE

OPERATION, MAINTENANCE
AND SAFETY INSTRUCTIONS
SINK & TAP MODULE
(EKMSINK / EKMSINKBP)

Due to ongoing product development,
Scan for further support images shown are subject to change without warning



2 Assembly, Operation & Maintenance Instructions

CONTENTS

Important Safety Instructions ..........cc...c....... 3
Appliance Details ......cccceeeireeirenciencrencrennene. 3
Cleaning & Storage ......ccccccceeereeecerenncrennnnnens 4
(= T 0 I 5
Module Assembly ......ccccccerveiieniirnncrennnne. 6-10
Connecting Modules Instructions........... 11-14
Warranty ..cccccvrcieiiccenicieniennnneceinecennennn. 15-17

Note: In this instruction manual, the Sink and Tap module will be referred to as an appliance

Read these instructions and follow steps carefully to ensure you assemble the appliance correctly and avoid
damages. Check that all parts and hardware have been provided before assembling the appliance. Place all
contents on a clean, soft-flat surface to avoid scratching the product

EVERDURE



3 Assembly, Operation & Maintenance Instructions

IMPORTANT SAFETY INSTRUCTION:

e DO NOT climb, step, or stand on the appliance.

e DO NOT use the appliance for any purpose other than that for which it is designed.

e DO NOT exceed the maximum weight for countertop 70kg (150Ibs).

e Keep the appliance on a level surface. It may become unstable if stored or moved on a
sloping surface and may cause personal injury, and/or damage to the appliance.

e Always apply leg stabilizers once the appliance has been moved to the area.

e To prevent damage to threads, do not use a power tool and do not overtighten screws.

e Do not use or store this appliance in areas of high salt content (a marine environment)
or an area with caustic fumes or liquids (such as a domestic pool), as these chemicals can

/\WARNING

CHOKING HAZARD-SMALL PARTS.
NOT SUITABLE FOR CHILDEN UNDER 3 YEARS.

cause the appliance materials to deteriorate (and void the warranty). Take care that the
module is positioned in such a way that the beverage cooler is always protected from the
elements.

e We recommend that you regularly maintain your module and keep them in good
condition. This can be achieved by following the cleaning suggestions in this booklet.

e Use two people to lift and to turn the appliance when assembling.

e Do not attempt assembly with one person.

e Keep all hardware and small parts away from children.

e When moving the appliance secure any items placed on top to prevent damage or
personal injury.

APPLIANCE DETAILS:

EKMSINK / WIDTH DEPTH HEIGHT | WEIGHT | MAX TOP COUNTER
EKMSINKBP mm (in) |mm(in) [mm(in) |kg(lb) | WEIGHT kg (Ib)

680 620 920 29 70

(26.77) (24.41) | (36.22) (64) (150)

EVERDURE



4 Assembly, Operation & Maintenance Instructions

CLEANING:

Surfaces can be cleaned using a mild household detergent or cleaner and a clean cloth
(do not use scourers or harsh detergents). It is advisable to test cleaners on a small
section of the appliance first. NEVER use paint thinners or similar solvents for cleaning
and NEVER pour cold water over hot surfaces. Dry the surface afterwards. DO NOT

use high pressure cleaners or steam cleaners, as this can damage the module surface
causing it to break down and lift away.

STORAGE:

When the appliance is not in use, MUST be under cover and covered (preferably with a
purpose made cover) out of the weather

PACKAGING:

e Remove all external packaging and remove the appliance from the packaging before use.
e Removal all internal cartons and packaging from within the appliance assembly.

e Recycle as per local government laws

IMPORTANT SAFETY INSTRUCTIONS (WATER):

This module with sink and tap has been designed to be installed by a licensed plumber.
The following is NOT supplied with the module:

1. Water resistant silicone to seal the sink to the countertop.

2. Water pipes for tap (the tap terminates in 2 short flexible hoses).

3. Wastewater piping from sink (sink supplied with wastewater connection only).
Installation must conform to local authority regulations.

Please also refer to installation guide supplied with the mixer tap and sink.

EVERDURE



Ul

Assembly, Operation & Maintenance Instructions

PARTS LIST:

Tools required:

—p—

Phillips head screwdriver

k

Flat head screw
M4*12 16 PCS

Screw
M4*12 4 PCS

Washer
@12 4 PCS

Screw
M6*16 12 PCS

Washer
?18-@6.5 12 PCS

Screw
M8*16 4 PCS

Washer
?18-@8.5 4 PCS

Hinge
NO. | PART NAME Qry PCS
1 | Table top 1 PC U
2 | Rear infill panel 1 PC /
3 | Back panel 1 PC
4 | Right panel 1 PC | NO. | PART NAME Qry PCS /
5 | Base panel 1 PC A | Screw M8*16 4 PCS
6 | Left panel 1 PC B | Screw M6*16 12 PCS
7 | Crossbeam 1 PC C | Screw M4*12 4 PCS
8 | Left side door 1 PC D | Flat head screw M4*12 16 PCS
9 | Right side door 1 PC E | Washer @12 4 PCS
10 | Tap set 1 PC F | Washer @18 - 3#6.5 12 PCS
11 | Sink + waste 1 PC | G |Washer®18-@8.5 4 PCS

Please contact Everdure for any spare part related inquires.

EVERDURE




6 Assembly, Operation & Maintenance Instructions

MODULE ASSEMBLY INSTRUCTIONS:

M6*16
2PCS

J18-36.5

e 2 PCS

J18-36.5

o 5 PCS

M6*16
5PCS

J18-36.5

G 5 PCS

EVERDURE



Assembly, Operation & Maintenance Instructions

EVERDURE




8 Assembly, Operation & Maintenance Instructions

M4*12
8 PCS

This screw adjusts the

This screw adjusts the distance from front to back

distance from left to right

When two hinges are combined, adjusting
one screw can adjust the height of the product

EVERDURE



9 Assembly, Operation & Maintenance Instructions

EVERDURE



tion & Maintenance Instructions

ssembly, Opera




11 Assembly, Operation & Maintenance Instructions

MODULE CONNECTION INSTRUCTIONS:

EVERDURE



12 Assembly, Operation & Maintenance Instructions

1

Sink Module
é7</ ; — i BBQ Module
" : = ~

EVERDURE



13 Assembly, Operation & Maintenance Instructions

2

Sink Module

Single Fridge Module

BBQ Module

=
'
1 | @18-@6.5 8 PCS
2 | M6*20 4 PCS
3 | M6 4 PCS

EVERDURE



14 Assembly, Operation & Maintenance Instructions

EVERDURE



15 Assembly, Operation & Maintenance Instructions

WARRANTY (USA): EVERDURE

Please refer to the everdure.com website for more warranty information

CONTACT US

To obtain repairs under this warranty, call Toll Free +1 877 794 2622 or email, service@everdure.com
For prompt service, please ensure you have the following information on hand:

1. Appliance Name/Model Number

2. Serial Number

3. Purchase Date (as per invoice or proof of purchase)

4. Purchased from

SHRIRO USA INC. Incorporation Number 7164875
25541 Arctic Ocean Drive Lake Forest, CA 92630 USA
Tel (sales): +1 877 794 2622

Email: sales@shrirousa.com

Website: www.everdure.com

EVERDURE




16 Assembly, Operation & Maintenance Instructions

WARRANTY (AU/NZ):

APPLIANCE WARRANTY

PRIVACY POLICY

Privacy policy: Everdure is committed to protecting your personal privacy. Your personal information that you
have provided in this form (e.g., name, street address, email address and telephone/mobile number) is used
solely

by Everdure for the express purpose for which is was collected (e.g., to respond to your enquiry regarding your
appliance). Your personal information will be processed by Everdure in accordance with the guidelines and
requirements of the Privacy Laws of Australia (Privacy Act 1998).

For a full copy of Everdure’s Privacy Policy, please e-mail customercare@shriro.com.au in Australia or
customercare@monacocorp.co.nz in New Zealand or call 1300 766 066 in Australia or (09) 415 6000 in New
Zealand.

STATEMENT OF STANDARD WARRANTY CONDITIONS
AUSTRALIAN CUSTOMERS

Our goods come with guarantees that cannot be excluded under the Australia Consumer Law. You are
entitled to a replacement or refund for a major failure and for compensation for any other foreseeable loss
of damage. You are also entitled to have the goods repaired or replaced if the goods fail to be of acceptable
quality and the failure does not amount to a major failure.

NEW ZEALAND CUSTOMERS

Nothing herein contained shall be construed in any way as excluding or limiting your rights under the Consumer
Guarantee Act 1993.

OUR WARRANTY

Subject to the following conditions, this appliance is also covered by the manufacturer’s warranty from the date of
purchase, covering all parts and labour for the period listed below (Our Warranty). Our warranty (which is subject to
the conditions below) covers rectification free of charge of any fault arising from defected materials or

components, or faulty workmanship. The appliance will be repaired or replaced at the option of Everdure, but all
costs of installation, removal, cartage, freight, travel expenses and insurance are to be paid by the claimant. Our
Warranty is subject to appliances being used for single-family domestic household use.

EVERDURE




17 Assembly, Operation & Maintenance Instructions

Our Warranty

Operates in additional to (and does not exclude, restrict, or modify) any rights or remedies to which you may
already be entitled to under the Australian Consumer Law or any consumer guarantee law relating to this
appliance.

WHAT IS COVERED: By Our Warranty
During the warranty period your appliance will be repaired free of charge by Everdure, or its authorised
service centre provided your appliance is delivered to and picked up from Everdure or its authorised

service centre, subject to terms and conditions below.

It is recommended that exposure of the appliance to the elements should be minimised. After the appliance
has been cleaned, store it under cover with a weatherproof cover over it.

COMPONENT WARRANTY PERIOD
Frame (Excluding Rust) 5 years
Paint finish 2 years
All other parts 1year

WHAT IS NOT COVERED: By Our Warranty

1. Any defect or failure caused by the appliance not being assembled or used in accordance

with the instruction/installation manual provided with the appliance.

Normal fair wear and tear (e.g., surface rust & discolouration).

Insect or vermin infestation.

Unauthorised repairs or use of non-genuine Everdure parts.

Appliance scratches & damage as a result of delivery, installation, or assembly.

Claims to appliance surface coatings due to accidental damage, improper or lack of maintenance,
damage from cleaning appliance not recommended by Everdure.

o vk wnN

HOW TO CLAIM OUR WARRANTY
You will need to contact Everdure in Australia or New Zealand using the enclosed contact details. Please
make sure you have the following information on hand:

e Appliance Name/Model Number

e Purchase Date (as per invoice, or proof of purchase)

e  Place of Purchase

IN AUSTRALIA IN NEW ZEALAND

Everdure Everdure

Distributed by World Wide Appliances Pty LTD Is a division of Monaco Corporation Ltd (Member of
Customer Care: 1300 766 066 Shriro Australia PTY LTD) Phone: (09) 415 6000
Email: customercare@worldwideappliances.com.au Email: customercare@shriro.com.au

EVERDURE




EVERDURE

It is important that you retain these instructions, proof of purchase as well as other
important documents about this product for future reference. Due to continual
product development, Everdure reserves the right to alter specifications or
appearances without notice.

Dispose of packaging responsibly — recycle where facilities are available.

SHRIRO USA INC. Incorporation Number 7164875 WORLD WIDE APPLIANCES
25541 Arctic Ocean Drive 48 Moore Street
Lake Forest, CA 92630 USA Leichhardt, NSW 2040 Australia
Tel (toll free): +1 (877) 794 2622 Tel: 1300 766 066
Email: sales@shrirousa.com Website: www.everdure.au

Website: www.everdure.com



